EAGRAROBREERT — 2 N— ABISH —F 2020118268 (K) 18EI&EESH

m 234 YR 2% ‘ [R&] B ‘ (] — | & (&) 14000 B
[A&4£] 1 7% :500,000  ~ 23#&:160,000  ~ 33#&:90,000H  43#&:60,000™ . 53 :40,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
s “ 4 2 | FEERE 1:33.9 1-1-1-1 | 41.5| — 4 444 | BEEBD (BEE)
11717 V2 %= A V) 54.0 (=) “1) () JV—>T7—L
RixAvavdavy BiyLE—u57 b FUI> MBS
=3 s 2 | SHEKX 1:34.4 6-4-2-3 | 41.4| — 2 451 |[MTTEA (BHE)
2(1|1|#H7o% 55.0 (21/2) © |0 77-2bEVa>
LNR=HINK B:TFARRLT b Ei=1 I G
. 42 | M 1:35.1 7-5-2-2 | 42.1| — 5 433 | RAFEE (BEE)
3|55 By 7EIN 51.0 ®3) (-g) | AH=ES
L:/—=HUN— B:T5%y bE—FZX pEAllbae]
7 . o2 | HEM 1:35.7 2-2-4-5 | 42.5| — 3 474 | TR (BHE)
4/8l/8|7L—htAv> 55.0 3) (<) | BWFFB
Z:Nd B: v RyyU—7 P95 IE
N RS 4 2 | DEEEE— 1:36.0 4-3-5-4 |42.6| — 1 434 | BTIB—S (BHE)
spYo| P—EXTUHARZX 54.0 (1'1/2) (15) | BHARS
L:bh—t>OL>ZX B:b—t>vVZT BREM IXF477—LA
TS o= s 2 | MIEEEZ 1:36.6 8-9-9-7 |41.6| — 9 413 | Hl=E— (BHE)
ol 4| FNVE—FNT 54.0 ® oy |75 7 Ak o
R:byHFsa—U— B:JLAIART HRE77— 4
. = FILE— : 67— — ROFEE (BHE)
; ol 7—U—K—5— B2 Al 1.(357>.6 3-6-7-6 | 43.5 7 (4_071) pEni
LA 2aR-—5— B:xvoNWT7-U— INEET 7 — L
° N 4 _E ALt : -8-8- — BEAC (BEE)
o3| 7y Tr—41% i 2 i 1.(317).8 9-8-8-9 | 43.0 8 (4_337) i%éﬂaaﬁﬁ
LA 0 BvI/TA— FrLEFLXT 7 — L
_ =T 39, 76 5| — A (BEE)
N - IERG A it 2 <a>52_0 1(389)5 5-7-6-8 | 45.5 6 :1_254) s
LiVENYF— BTALRF-T B A
@ I—F—@EBIERL
|3=7r= 7,8,9,2,6,1,5,4,3
2ol=5"= 7,8,2,1,5,9,6,3,4
== 7,(1,5),8,2,6,9,3,4
43—F— 7,5,1,2,8,9,4,6,3
[ N
B 7 1,050 794K 1-7 430 % E 1-7 1,800 &R 1-5-7 3,550
# B 7 270M Sl 790M B E 1-7 1,530M EE 7-1-5 32,700
1 1604 1-5 490M B H 7-1 4,190M
5 280M

ARICOVWTRDTEEERROODE. TR LI,




